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NEW QUESTION 1
Which two of the following functions are synonyms of one another? (Choose two)

A. CLOB
B. VALUE
C. IFNULL
D. DBCLOB
E. COALESCE

Answer: CE

NEW QUESTION 2
Which of the following programming techniques can be used to check for any error codes after executing an SQL statement?

A. Declaring a cursor
B. Using the WHENEVER statement
C. Using DCLGEN to produce declarations for tables
D. Dynamically executing a statement with parameter markers

Answer: D

NEW QUESTION 3
Which catalog table would you query in order to determine the relevant statistics for an index?

A. SYSIBM.SYSKEYS
B. SYSIBM.SYSFIELDS
C. SYSIBM.SYSCOLUMNS
D. SYSIBM.SYSINDEXSTATS1

Answer: D

NEW QUESTION 4
Which privilege or authority is required to use the DSN command?

A. None
B. SYSADM
C. SECADM
D. EXECUTE

Answer: B

NEW QUESTION 5
Your current authorization ID is DBA. Only one of your secondary authorization IDs, DB2, has the privilege to create an index DB2.AAA on a table. The appropriate
SQL statement starts with “CREATE INDEX AAA ON…”. Which of the following statements must precede the CREATE statement so that you can create the
index?

A. SET CURRENT SQLID = ‘DB2’;
B. SET CURRENT RULES = ‘DB2’;
C. No preceding statement is needed
D. SET CURRENT SCHEMA = ‘DB2’;

Answer: A

NEW QUESTION 6
Which types of user-defined data types are supported? (Choose two.)

A. CHAR
B. ARRAY
C. NUMERIC
D. DISTINCT
E. TIMESTAMP

Answer: BD

NEW QUESTION 7
Which of the following can activate a trigger?

A. A row is inserted
B. A table or view is created
C. A check constraint is defined
D. A referential constraint is violated

Answer: D
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NEW QUESTION 8
How can a user-defined function (UDF) be invoked?

A. Via an SQL SELECT statement
B. Via a CALL statement using SPUFI
C. Directly via a RUN PROGRAM command
D. Via a CALL statement from within an application program

Answer: B

NEW QUESTION 9
Which command displays the DB2 catalog level and migration mode?

A. DSNC DISPLAY
B. MODIFY irlmproc,STATUS
C. DISPLAY GROUP DETAIL
D. DISPLAY DATABASE (DSNDB06)

Answer: B

NEW QUESTION 10
Which of the following are advantages of DB2 for z/OS data sharing over a standalone DB2 subsystem implementation? (Choose two.)

A. Reduced active logs
B. Reduced storage use
C. Higher transaction rates
D. Reduced lock contention
E. Increased data availability

Answer: CE

NEW QUESTION 10
Which job generates the subsystem parameter module?

A. DSNTIJIN
B. DSNTIJJP
C. DSNTIJUZ
D. DSNTIJEN

Answer: C

NEW QUESTION 15
Which characteristic best describes a created global temporary table?

A. Inserts are logged
B. Rows are locked when they exist in the table
C. They have permanent, shareable descriptions
D. Access to rows can be shared across multiple processes

Answer: C

NEW QUESTION 18
Which of the following automatically maintains historical versions of data over several years?

A. A partitioned-by-range table
B. A partitioned-by-growth table
C. A system-period temporal table
D. An application-period temporal table

Answer: C

NEW QUESTION 23
User1 creates table user1 .customers in a partitioned-by-growth (PBG) table space DB1.TS1
Which of the following operations CANNOT be performed by user1 with implicit owner privileges on the table?

A. Run the LOAD utility to load data
B. Create a VIEW on the customers table
C. Run the REORG utility to reorganize the data
D. Issue an SQL LOCK TABLE statement against the customers table

Answer: A

NEW QUESTION 26
Which of the following effectively and efficiently manages priorities of a mixed workload as a result of its tight integration with DB2 for z/OS?
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A. Data Facility Storage Management
B. z/OS Parallel Sysplex Configuration
C. Workload Manager
D. z Systems Processor Resource

Answer: C

NEW QUESTION 29
Which of the following is TRUE for using LOAD on a partition-by-growth table space?

A. Data can only be loaded at the partition level
B. Data can only be loaded at the table space level
C. Data can only be loaded using a clustering index
D. Data can be loaded at either the table space level or the partition level

Answer: A

NEW QUESTION 30
Given the following table and index definitions, what type of index will be created?

A. Non-partitioned index
B. Non-partitioned secondary index
C. Data-partitioned secondary index
D. Data-partitioned partitioning index

Answer: C

NEW QUESTION 34
Your application has a read-only cursor. You cannot tolerate uncommitted data but want to make sure that it provides the best concurrency. Which of the following
bind options would provide the locking you need with optimistic locking?

A. ISOLATION(UR)
B. ISOLATION(RS)
C. ISOLATION(CS)CURRENTDATA(NO)
D. ISOLATION(CS)CURRENTDATA(YES)

Answer: C

NEW QUESTION 36
When the following SQL statement is executed, user smith will NOT be able to do which of the following? REVOKE USE OF STOGROUP stogr1 FROM smith;

A. CREATE TRIGGER...;
B. CREATE TABLE... IN dbl.ts1;
C. CREATE DATABASE ... STOGROUP stogr1;
D. CREATE TABLESPACE... USING STOGROUP stogr1;

Answer: C

NEW QUESTION 38
The PERIOD BUSINESS_TIME clause on a DDL statement is used in which of the following? (Choose two)

A. A bitemporal table
B. A system-period temporal table
C. A created global temporary table
D. A declared global temporary table
E. An application-period temporal table

Answer: CD

NEW QUESTION 39
Which type of constraint is NOT enforced by DB2 during SQL processing?

A. Check
B. Referential
C. Primary key
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D. Informational referential

Answer: D

NEW QUESTION 40
Which of the following statements is TRUE when issuing an SQL ROLLBACK (without SAVEPOINT) statement?

A. All held LOB locators are retained
B. All locks that are implicitly acquired during the unit of recovery are retained
C. All rows and all logical work files of every created temporary table of the application process are deleted
D. All cursors are closed, all prepared statements are retained, and any cursors that are associated with the prepared statements are invalidated

Answer: C

NEW QUESTION 44
Which catalog table provides information about the validity of a bound package?

A. SYSIBM.SYSPACKLIST
B. SYSIBM.SYSPACKAGE
C. SYSIBM.SYSPACKDEP
D. SYSIBM.SYSPACKAUTH

Answer: A

NEW QUESTION 47
Which package level privileges does the user smith have when the following statement is executed? GRANT ALL ON PACKAGE clct1.pkg1 TO smith;

A. GRANT, COPY, BIND, RUN
B. BIND, EXECUTE, COPY, RUN
C. CREATE, COPY, RUN, EXECUTE
D. COPY, BINDADD, SQL, EXECUTE

Answer: B

NEW QUESTION 48
The metadata for which of the following objects is NOT stored in the DB2 catalog table SYSIBM.SYSTABLES?

A. A view
B. A temporal table
C. A created global temporary table
D. A declared global temporary table

Answer: B

NEW QUESTION 53
Which of the following statements concerning a bi-temporal table is TRUE?

A. It provides business history, but is not useful for audit purposes
B. It is defined with both an application period and a system period
C. It is useful for audit purposes, but is not useful for business history
D. It contains data reflecting two different times – current time and one previous time

Answer: B

NEW QUESTION 54
How can a stored procedure be invoked?

A. Via an SQL SELECT statement
B. Via a CALL statement using SPUFI
C. Directly via a RUN PROGRAM command
D. Via a CALL statement from within an application program

Answer: D

NEW QUESTION 57
Which catalog table contains the IN, OUT and INOUT parameters used in a stored procedure?

A. SYSIBM.SYSSTMT
B. SYSIBM.SYSPARMS
C. SYSIBM.SYSROUTINES
D. SYSIBM.SYSVARIABLES

Answer: C

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version C2090-320 Questions & Answers shared by Certleader
https://www.certleader.com/C2090-320-dumps.html (124 Q&As)

NEW QUESTION 61
......
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